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QUESTION 1

What do global types and local types have in common?
A. Documentation

B. Field labels

C. Search help

D. Technical information

Correct Answer: D

QUESTION 2

Which hook method exists for all controller types?
A. wddoonclose()

B. wddoinit( )

C. wddobeforenavigation( )

D. wddoonopen( )

Correct Answer: B

QUESTION 3

You want to use a BAdI to extend the functions of an SAP program.
Which of the following tasks is necessary?

A. Call the BAdI.

B. Create an enhancement project using a customer exit.

C. Define an interface for the BAdI.

D. Implement a class that implements the BAdI interface.

Correct Answer: D

QUESTION 4

You want to display a dialog box in your ABAP program. Which statement do you use?
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A. WINDOW 200 STARTING AT 55.

B. SET SCREEN 200.

C. CALL SCREEN 200.

D. CALL SCREEN 200 STARTING AT 55.

Correct Answer: D

QUESTION 5

You are using the new debugger and you want to change the content of an internal table.
Which actions are allowed? (Choose three) A. Delete the entire contents of a table.

B. Change row content and press Save ( + S).

C. Delete table from memory.

D. Delete the selected rows.

E. Change row content and press Enter ().

Correct Answer: ADE

QUESTION 6

To which context object is the attribute LEAD_SELECTION_INDEX related?
A. Supply function

B. Node

C. Attribute

D. Element

Correct Answer: B

QUESTION 7

What can you use to achieve polymorphism?
A. Events

B. Subroutines

C. Inheritance
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D. Reports
E. Company 2

Correct Answer: C

QUESTION 8

How do you embed a subscreen in a main screen?

A. Use SET SUBSCREEN in a PBO module of the main screen.
B. Use SET SUBSCREEN in the flow logic of the main screen.

C. Use CALL SUBSCREEN in the flow logic of the main screen.
D. Use CALL SUBSCREEN in a PBO module of the main screen.

Correct Answer: C

QUESTION 9

Which of the following tools belong to the ABAP Workbench? (Choose three)
A. Form Builder

B. Function Builder

C. Screen Painter

D. Class Builder

E. Easy Access Menu

Correct Answer: BCD

QUESTION 10

You defined data reference z1 generically.

Which statement would you use to access the content of the referenced variable?
A. Assign (z1) to

B. Assign z1 to

C. Assign z1->* to

D. Get reference of z1 into wa
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Correct Answer: C

QUESTION 11

What must you do to define a database view using the ABAP Dictionary? (Choose three)
A. Choose the database tables from where the view acquires data.

B. Define the join conditions between the tables.

C. Choose the fields from the tables that should be part of the view.

D. Define selection criteria for the view.

E. Define buffering settings for the underlying database tables.

Correct Answer. ABC

QUESTION 12
How do you program an input validation on a selection screen that allows users to correct their input?

A. Implement the check at the event AT SELECTION-SCREEN OUTPUT. In case of an input error, a type E MESSAGE
must be displayed.

B. Implement a check at the event AT SELECTION-SCREEN. In case of an input error, a type E MESSAGE must be
displayed.

C. Implement the check at the event END-OF-SELECTION. In case of an input error, a type E MESSAGE must be
displayed.

D. Implement the check at the event AT SELECTION-SCREEN. In case of an input error, a type A MESSAGE must be
displayed.

Correct Answer: B

QUESTION 13

What happens when an authorization check fails?

A. The program is terminated.

B. The system field SY-SUBRC is set to a value other than zero.
C. A type E message is displayed.

D. A CX_AUTH_FAILED type exception is raised.
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Correct Answer: B

QUESTION 14

When should you use a hashed internal table? (Choose two)
A. When accessing mainly single records

B. When accessing by secondary key

C. When accessing using the left-justified part of the key

D. When accessing always by primary key

E. When accessing by index

Correct Answer: AD

QUESTION 15

For which of the following requirements can you implement a functional method? (Choose two)
A. A handler method for an event that has a returning parameter

B. A method to set an instance attribute with one importing parameter and no other parameters
C. A factory method that returns an object reference

D. A private static helper method that returns a single value as the result of an algorithm

Correct Answer: CD
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